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var var
position1: string;
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real

V :=3.14159 *r * r * h;

real
real
var var
: real; X, Y, z: real;
177 = x 102
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real
var
X, Y, Z: real;
begin . +
x:=12.0; o _
y =133 +Xx; . *)
z:=(x+17.2)* (121 - (y / X)); . /
end.
X 1.2x 101
y 2.53x 101
z 3.471637x 108
T r h
v 1. r
— 71?2 2. h
V =7t h 3.V=1r2h
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program CyllinderVolume(input, output); program CyllinderVolume2(input, output);
var var
r, h, V:real; r, h: real;

begin begin

writeLn(* ; writeLn(* BE

readLn(r); readLn(r,h);

writeLn(* Y writeLn(* ',3.14159*r*r*h,' DK

readLn(h); end.

V = 3.14159*r*r*h;

writeLn(' V) ;

end.

12% =0.12
= + * 1. savings
2. interestrate

savings interestrate 3.savings := savings + (savings*interestrate)
Pascal

savings := savings + savings*interestrate ;

4.savings

program FindSavings(input, output);
var
savings, interestrate: real;
begin
writeLn(* ( : )Y
readLn(savings);
writeLn(* ;
readLn(interestrate);
savings := savings + (savings*interestrate);

writeLn(* ', savings:6:2, " ;

end.

x=2,y=3,z=4

result :=x+y*z;

+ result = 20

* result = 14.




1 y X=6,y=2,z2=3 result:=x/y*z

2. +, -

(6/2)*3=9 6/(2*3)=1
x=2,y=3,z=4 result:=x+vy*z
14.

result:= (x +y) *z; result 24).
result := x + (y*z); (result 36);

ErrorDemo

program ErrorDemo(input, output);
var
data, extra: real;
1/3 0.33333.... begin
13 readLn(data);
readLn(extra);
data := data + extra;
data := data - extra;
writeLn(data:30:2);
end.

0.333333

data = 100

Extra = 100000000000000000000000

data = data+extra F
=100000000000000000000100
=100000000000000000000000

data = data- extra
=0




d

= d3) =6
d(17) =34
F(Issac) = Abraham
( ) dx) =2
F(Abel) = Adam
r h
F =
( ) .
F( )= v(r, h) =Tt r?h
d(x) =2 v(r, h) = r?h
X d(x)
1 2 h
2 4 v(r, h) 1 2 3 4 5 6
3 6 1 314  6.28 942 1257 | 1571 18.85
4 8 2 1257 2513 37.70 50.27 62.83 7540
5 10 3 28.27 56.55 84.82 113.10 14137 169.65
6 12 4 50.27 100.53 150.80 201.06 251.33 30159
7 14 5 7854 157.08 235.62 314.16 392,70 471.24
8 16 6/ 113.10 226.19 339.29 452.39 565.49 678.58
9 18 7/153.94 307.88 461.81 61575 |769.69 923.63
10 20
d(x) =2 v(r, h) = r?h
14 700
12 600
10 500
8 400 — ;
3
6 300 4
4 200
2 100 //
0 0
1 2 3 4 1 2 3 4 5 6 7
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